Name: Id#

COE 200, Term 023
Fundamentals of Computer Engineering

Quiz# 2

Date: Saturday, July 12, 2003

Q1. Consider the following two numbers A=-98 and B= 33:

a. Express the two numbers in Sign-Magnitude, 1's complement and
2's complement notations, assuming 8-bit representation.

b. Perform the operation A-B two times, once using 1's complement
notation and once using 2°s complement notation.

Q2. Determine, in binary and decimal, the smallest (negative) number and the largest
(positive) number that can be stored using Sign-Magnitude, 1’s Complement and 2’s
complement notations, assuming 12-bit representation.
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b. Perform the operation A-B two times, once using 1's complement
notation and once using 2's complement notation.

- V's  Complement

loo i1 | = col|l oocoa|

= loolllat + V1lsl llte

v 1y
oo | |1 e
+ Yi1elllte
e,
De— o I rpretd
+ {

OI’,,'OQ

ovecflew becasse M SHn=bi} hay CkAn&(J

L Corree) reguld thould b ~\31
ohrch Cannet ke Rpresem)—ecl tA
g-blds.




- 2% C°“"P|€MQ~‘— H

leo Liltle — OcloOQQl ~ los tLLLs «f\l'of‘”j

De e 11 vitel
ovecklsw be cavse. e S'zn-b”— has c?AaAge.a/l.

Q2. Determine, in binary and decimal, the smallest (negative) number and the largest (positive)
number that can be stored using Sign-Magnitude, 1’s Complement and 2’s complement
notations, assuming 12-bit representation.
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